Assignment
Simplify.

—r + 57513

1
) A3rt 4 a-/s5p3

47/2m? +4m

3)

4~/3m? + 3/ 5m?

3-~/3p?

5
) A3b* + 57/5p3

2n? — 47/5n?

7
) 3-/sn® - sn

5r2 —~/3r?

9
) —r+2’)3r

5 —~/5b?

11
) 2+#b

-3 +572x3

13
) 4 - 232

2 +57/3n*

15
)it

-1 -572x
17) —
X+3

5+7/5n

19
) 3 - 5/3n*

21) =5+ ’/E
4+ 4730

2T wsgsgs ath-vsorlsheel ory

Name

ID: 1

Date

Period

-1 +47/5x>

2)
5X + 5’)2x4

3x% +37/3x2

4
) 3X —’)3x3

5—~/5v2

6
) —avt + v

. A3x% = 3+s5x
2% + 3 2x?

4n + 47/2n?

10)
-2n + 4’) 5n°

—~/3v*

4
12)
3+ ’) 2v3

5—--/3a

14
) Na® - 4a*
,/2p2 _~5p3

) \3pt -2

57/3x —~/5x>

18)
2+ 3’? x?

Sp+-7/5p

20
) 4p+5'?5p3

22) 3bh + ’/%
5+ 2-/3b*
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23 37 n)2a ” s\/2r —A/f2r
—1+4/5a2 5 +:er2
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Answers to Assignment (ID: 1)

b 3+ 451 + 51V 15r — 100r y TLtX 2 +ax\5 — 4x2A/ 10
3r2 — 80r 5% — 10x3
16\/_—12 10 + 16V3 — 1245 g 2XHxV3x 43 34+ 3x
3-X
3b\/§—15\/ ~3b2 + 507 15b . 20v* — 572V + avi5 +wWiov
3b* — 125b? 16v® —2v
y 6nsn + 1006 n—205 2x2\/_ 3xv6 — 6xv5% + N 10x
45n — 25 4x* — 18x?
52— 10m3r + 3 + 6V 2 —a5n —2\/_ a/10n 10— 57b — 2075 + W/5b
9) 10) 11)
r—12 1—20n 4_p
12 —4wW2v — 3v2A/3 + v 6y 6 —3xN3 — 10X\ 2X + 5x>A/ 6X
12) 3 13) =
9-2v 8 — 6X
sva +20a° — V'3 — 4a*\/3a 8 — 2n*/2 +20n*\/3 - 5n*Al6
14) 15)
a’— 16a’ 16— 2n*
3\/_+2p\/_—p\/15 —2pN5p —\/_+3 5372 + 1572x
3pt - X—9
18 2 3x — x\5 19 15 +25n2A/3 + 33350 + 502/ 15n
2+ 3x 9— 750"
20) —Sp—-25pN5p +4N5 21) 545w/ 3v —A/3v —3v?
16p — 125p* 4-12v3
15b — 6b°\/3 + 5V 5b — 2b%N/ 15b -3 -3aV5 +2V2a +2aV10a
22) - 23) -
25— 12b 1-5a
25\/ —10r/r = 5r2a/2 + 213
25 —2r?

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.
1) 3v+27/5uv
_ov — ~/3utV?
3) 2 —27/5x
-5+ 5’)3x
5) 4X + 275X
;}x - 3’?5x4
7 2v3 — 254
4 Jr)zv3
0) 55 +4
27/2x* =3
1 4 —37/3x*
) —5—"}X3
13 373r* —3/5r*
) 4+~ 514
15) -5 +~/2m*
5— 3f22m2
17) 37/3a* —4a
Qa - 5’}2a4
1oy 230 —n?
Asn? + 57/3n?
21) —2b + 47/5b3
2b +’?2b2

2T wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date

Period

2—~/3n

2
) 3~/3n* +2-/5n3

2 -5 +-/3x*
3+’}x4

. \/sb - 5-/3b

_2b? + 57/3b°

NeaEe e

8
) 3 —~2k?

-5 —~/5a*

10
) _4—5a*

12) =5n +’W
5302

4y —~/ 3v?

14)
s5v4 + ’) 3v?

4 +3/2n*

16
) 2nt + 2’}n3

o I
4 +5%2

3p* +37/5p°
P

22) 5+’/37
Q3x4 +2X
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2) 43 — 47213 24) N3V - 20V
350t — 34/3r2 -2V
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Answers to Assignment (ID: 2)

—6v + 3vuA/3 — 4/5uv + 2uA/15uv

1) a
4v — 3vu
g 22K 5% +2xV 15 N 54 %3
5—15x 3+ x?
5 2 x + 12275 + 245 + 3060/
1 —45x°
7 a3 —v2v — avis + v 1ov
v +8
9) 2x* 10 + 3x° 5+8x2 2 +12
8xt —
—20+4x«/_+15x2\/_ 3x°4/3x
11)
25— x3
12r2\/_ 3r'15 — 12145 + 151
16 — 5r°
—25—15m\/_+5m2\/_+6m3
15) .
25— 18m
3an/3a + 15246 — 1 a — 20a\2
17)
1 —50a°
—2\/ +30+\/_ s\3

6n\/_ 4\/5_n— 9n\/_+ 2n\/_

27n° — 20n?
—2\/ -5\ 15 +10V3b +75
4b% —75b
—3k2\/_ + 2k3k — 9kn/2K + 6K
9 —2k?
_5—a/s
10) ——=
—4-5a
2250 - 5n°\3 + 502 + n*6
12) .
25-13n
20v° — 43 — 5v3 343
14)
25v8 —
an® —aNn + 3n5\/_ 3n%A/2n
16)
2n’ - 2n?
—4X\/3x — >N 15X + 4% + X \/g
16 — 5%2

3p2\/_ 9p° +3\/_ nsp

1-9p

5x73 = 10 + 3x°4 x — 2x3/3x

21) 2+\/_+4\/_ /100
22)
2) arA5 + arA3 — ar10r — 4o

15r> -9

2T wsgsgs ath-vsorlsheel ory

3x3 — 4x
2W3v+\r\/_ 4Wv —2v

8v-2
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Assignment
Simplify.

47/3n +3

1)
4n? — 3’23n3

3a+/2a’

3)
3a+ 5’}5a4

—4 /3%

5
) 2 +2x°

3 - 573k

7
) 2 33K

-5+ 37/5b*

) 2 - 4"}2b

57/2n% + 5n°

11
) 3+7 )3n

3 -3/2r*

13
) _sr+-r*
\/2x —’/xy

—4y +’/5x

s/
17
)

4 _~[3x?

19
) 5+’)2x

A2n? —/3n?
21) ﬁ—
-2n—"/3n

2T wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date Period

5—47/5n°

2 4n — 4’)

—4x* —~/2x?

4
) 433

5p° +72p°

6
) 2+-/5p*

g 2= ~f2r®
W - 3/2r

4 + 57/ 5%?

10
) 3+ 5’)2x

\/5x ’/3x y
—5% — ’/3x2y2

—2X + 57/ 2x?

14)
—4X + ’) 3x?

~3b2 +3b>
R

2 —~5v?

18
) v — v

27/2k* —

2
20)
3k+’)5k3

5 —~/5%>

22)
-1+ 5f25x4
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2) —3 —A/3r2 20) 35X +202%7
2 —42r 5v3x* +A/5x
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Answers to Assignment (I1D: 3)

) 16n%A/3n +36n% + 12n + N3n NELEE: n —4n?/5n — 4n?/5
16n° - 27n? 4n% — 4n
) 9 — 15a/5 + 33/2a — 5an/10a ) —16%* — 43\ 3x — axv2x — x\6
9 —125a° 16 — 3x°
5 ~8+4xax -2 3x + V6 6 2PV5P 5p3\/_+2p\/7 o 10p
4 -2x3 5p’
6+9k2\/§—10k\/_ 45Kk 2+2\/_—r\/_ or2
7) 7
- 27k 3r —6r?
0 —5—10\/_+3b2 5+ 6b™\10b 10 12- 20\/§+15x\/_ 25x7 10x
2 16b — 50x
) 15m/2 = 5026 + 15n% — 5n°A/3 —5y2\/_+y3\/_ s\3xy + 3y xy
9 —3n? 25 - 3y?
) 3232 8+2\/_ 20\/_ 5\/_
S 5r4r?
—4x2y\/5 x*A 10xy +4y\/_y+x2M 16 32+ V3 17 543
16y* — 5yx° ) 4 p* ) -n—n?
4+2vx/_ /5 - v/ 10 " 20x* — 4x2 = 53 + W6
4y - 2v° ) 25 —2x*
6k\/_ 2kV 10k — 6+ 245k —2\/_ \/_+2 3n —3n
9k — 5k? -3n
2) —5-25%2 5+x45 +25x%° 2) ~3—6r r—r\/_ 2r2\/_
1~ 125x Z16r’ +2
WEMETIE x + 1076 — 210
70X

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

1) 4 +’/£
-1 —5’?512

57/3n% +3

3
) 5—’)3n3

—3X+ 373X
3X—47/5x

) 2=
3.—3f?n3

9) -5+ 3’/5
2 a

1) A2m? +2
2 +’)5m4

=5 + 37/ 5X

13
) -5+ ’)2x2

2—-7/3n

15
) 1 —~[5p3

- N2kt — 2k
-1 +’}3k

2 +~/2n*

19
) _an” — 57/n

4 +4~/3m*
21) -3 —’)Sm4

2T wsgsgs ath-vsorlsheel ory

Name

ID: 4

Date

Period

2) -3k +/5k
-5k + 57/ 3k

4 +37/2xX

4)
3x° +’}2x3

2 — 4723

6
) 4+

. 3-or — 4-/5r
-3 - 2’) r

10) \/3_V+2
54+ 33

47/2x* —37/3x*
12)
2 — 712X

14) -2X + ’W
4+ 3%

3 +47/5m*n?

16
) 5n° —~/5m3n3

—5-52n?

18
) ;/n + 4’}2n4
A/5a* +47/5a°

20
) \3ad +-/2a3

4x* + 57 2x%y*

22
) 43xy + 271 2x%y
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3x* + 40/ 5x4 5+ 4N 3n*

23 24
) _1-A/x° ) 3+ 4302
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Answers to Assignment (ID: 4)

) 4++a ) 3k + 33k —A/5k /15 5 285m0+ 150° 115
~-1-3a 5k—15 25-3n°
N 1252 — 43/2x + 9xA/2x — 6x 5 X 12 5x +N3x + 12415
9x°> — 2x? 9x — 80
g 82V - 16 v+ 42 ) 2+ 2m/n =Af5n —n*/s
16 — V3 -3n°+3
. —on2r + 6rV2 + 124/5r — 85 0 ~10 - 5v/a + 67/2a + 332
9—4r 4-a
—5\3v — vy — 10— VA3 2mV2 = m310 + 4 — 2m>/5
10) ; 11) .
2527V 4—5m
12) 232 + 8xA/x — 6x24/3 — 3x24/6x 13) 25 + 5x7/2 — 1545% — 3xa/10x
4 -2x 25 -2x°
14) 8 + 253 — 4x2A/3 - 3x? 15) —2+2m/5n +4/3n —n:/15
16 — 3x* 1-5n?
16) 15n% + 3m/5mn + 20m2n*A/5n + 20m*n?/m 17) k22 — k26K + 2k + 2k3K
25n° — 5n’m? 1 -3k
—5/n + 15072 + 40n*n 8n” — 107/n — 4n*\/2 + 5n’\/2n
18) . 19) -
n-32n 16n" —25n
20) 152 —\10a + 415 - /10 oy T12 am*\5 — 12m™3 + 4m*/15
) 9 —5m*
2) 4X3N3xy — 2xN 2y + 5xy2\/5— 5x2y2\/g 2) 3xt =3 x — 4xA5 + 4x3A/5x
12y — 2yx* x> +1
15— 20m/3 + 12n°A/3 — 48n°
24) .
9 — 48n

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

5—~/5v*

1
) 4+’}2v4

3 2k + S’W
4+ 3k

2n* —5n
5)

3t + 5%

N o

2r? — 57213

9
) 4Qr3 s

4x + 57/ 5%3

11
) 5-— 3’)3x

2 3
—-a“ +7/2a
13) i

27/5n% + 5-/2n*

15 3 2/2n
5+ 5*?5n3

-5 —-"/2x

17
) 3 +-15x
A/5r3 3’/_

5-/5a° +~/2a*

2’/_ r+ 3’/ 3r?

2n + 37/2n?

21)
4+ 5F22n2

2T wsgsgs ath-vsorlsheel ory

Name

ID: 5

Date

Period

-5+573p*

2
) -p +2’}2p4

3 +~/2x*
4x% —~/2x

—~/5x4

G)ﬁ—

57/5n° +47/2n
’/3n

8)

4 —~3v3

10
) 2 - 5’)3v

12) 27/5m3 —4
2+ 35m?

—1+~/2x3

14
) 4’) 3x*

2+27/3n°

16) TT’ .

2 +27/3k?

18
) 3 - 3-/3K2

20) N3 —2+axt
Q 3X + ’} X

22) 2~ ~5x%y?
2% 4] x?y?
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2) 5-4/3m 24 ~-1+/5a’
4+ 2/5m nad +24/3a2
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Answers to Assignment (ID: 5)

20 — 5V 2 —4vN 5 + v 10

1)
16 — 2v*
5 8- 2343 1 20k245 = 5k 15
16 — 3k*
2n\/ 0 —10n2 — 105 + 25m/2
20 — 50n?
wW6x — x2A/6 +A/10x — x/10
7) -
2X —2X
9) 8r2a/r —2r\V'5r —20r’4/2 +5r\V 10
l6r> -5
1) 20X + 12X°N/3 +25xV 5% + 15x2A/ 15x
25— 27x°
g Vsa+a 2+ 5710 - 2W/a
125 -2a
15) 3-3m/5n —2N2n +2n*A/ 10
5-25n°
~15 + 5x75 — 38/ 2x + xv/10x
17) .
9 —5x
19) 10r — 3r>A/ 15 — 6N 51 + 9r\/ 3r
20 —27r2
an - 5n*\/2 + 6m/2 — 15n? 2~ xy\/sy
21) - 22) — 22
8 —25n —2X + Xy
23) —10-5N5m +2N3m +m\ 15

& —10m

2T wsgsgs ath-vsorlsheel ory

5+10pV2 - 5p2\/_ 10p°\6

2)
p-
) 122 + 3 2x +4x4\/_+2x2\/_
16x* — 2x
25+ 5vx — 5x°/5 — x2A/5x
6)
25 —-X
) —20MV5n +5n*A/ 15n — 16N 2n + 4nV 6n
16n —3n°
8 + 20NV 3v — 2w 3v — 15V?
10)
4 —75v
—4m\/ _3om*m + 8+ 12m5
4 — 45m?
—3 —4x2A/3 + 3xV2x + 4x3 6X
14)
9 — 48x*
2\/ n+2n2/3 + 2026 + 6n*A/n
2n - 3n*
2 + 2k\/§+ 2kN 3k + 6k2\/_
— 9k?
20) 3X — X2 3x —2xA/ 6X +2x3\/_
3-x3

—\/g+\/§+a Sa - a\/_

2a’ - 6a

math-worksheet.org



Assignment
Simplify.

4n + 37/3n?

1
) 2+ 5F22n2

3x2 +~/2x?
3)

37/2k* +-/k*

5
) 3 —~3K°

3 +/5x%2

7
) -2 - 3F?x2

-1 +~/3m?

323 = 3-/2x*

9)
“om* +27/3m?

-5 — 47/ 5%?

11
) ax — 5%

v —~/5v3

13)
4’} v+ ’) 3v

15) 5 +’/§
5n% — 3’}5n4

3x? —47/3x

17)
3+ 3’) 5%°

2n +2

19) v;_—

21) -3+ 5’/_
ﬁ___

2T wsgsgs ath-vsorlsheel ory

Name

ID: 6

Date

Period

4x + 37/ 2x?

2
) -5 +’)2x

—v —~/5v?

4
) 2 +~[3v2

6) \/%+3
3—2’}n2

4 +~/5n?

8
) 3- 4*?2n3

3n? -5

10)
4+ 2*?3n2

Sp+7/2p

12
L e g

-5 +7/5k
5+7k

14)

16) 4’/%+’/%
sz +2

18) ﬁ__“—"ﬂl

2x — 37/3%3

20
) 5X+7 )Sx

22) 3+7/3m

math-worksheet.org



2) 4+\/3_n 24) 3k+\/3_k
2n? — SQ 5n? 3 +sz2

A dagsgs . mabh-verksheeb.org
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Answers to Assignment (I1D: 6)

) 8n —20n*\/2 + 6m/3 — 1506 gy 20 = 4x2x - 15% 2 —6x\/x
4 — 50n? 25— 2x
3 Aox +x6 + 24/x + 2x 2 _ov+vA3 — 25 + v 15
6X — 6X° 4 —3y?
9k\/5+3k2\/_k+3k2+k3\/_ \/_+3 . 3435
9 — 3k* 3 2n ) -2 - 3X
) 12 + 16mV2n + 3m/5 + 4n*A/10n ) m? +4/3 = m*a/3 = 3m
9-32n° 2m’ —6m
7n\/_ 3n ~10 220 - 575x — 16x35 — 20x3/x
1) 16X — 5x°
12) 15p2\/_+5\/_+6p\/_ \10 13) 8V 2v — 2v2A/3v — 4v2\/_+v\/_
18p° — 32v?% —
" —25+5\/_+5\/_ k5 5 5-35-sn-3/n R 8\/_b+b\/_ n/sb
25-k 4n?
17) 3x2 = 3x3A/5x — 43x + 4x2A[15 2n\/_+n3\/_ /2 - \/%
3 —15x%° 4-n?
4n2\/_+8\/_n+n2 244 o 10-2Vsx - 15 3x+3xN/E
-8 ) 25 - 5x
—3+5\/_ 15+37m + 5m*/3 + m*/3m
22) -
3-p° 25m—-m
23 8142 sn +2m/3n + 5m/15 2y 3= kA3 +43k —kvk
4n® - 125n° 3-Kk?

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

D 3+72x4
2X —’)3x2

4x — 57/ 5x*

3
) 4+ -1%

. 3-/3n* +2-/2n*
A3n? — 450

7 -1 +27/3m*
5m® —~/2m?

2 —450

5b—57/b°

9)

4an* —~/2n*

11)
;)n + 5’}5n2

-5 —47/5x

13
) 5’)2x — ’) 3x

5 + 2~/ 5k*

15)
5k + ’) 5k*

-2 +27/3p*

17)
3+472 p*

19) Asnd +3-/n?
QSn2 —4n

-1-37/5x%3

21
) 4_ 5%

2T wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date Period

LR 5-/50
2+ 350

“1—3x*

4)
_ox2 — 27/2x>

5—/2x%y?

6
) 275x%y —~2xy

s5utv? —27/2u%V?

8)
w + 57 uv?

4 +27/3n*

10
) 5n —’)2n

4—~2x*
12)
3% +~/3x*

4 —r?
14) /_
-5r2 —~/2r*

16) -5m —~/2m*
2 +4’)5m3

5—-/5a*

18)
5a° + ’) 2a’

3v? + 4v?
20)
-2 —~2v?

2-/2p°

22
) Q3p —’)Sp4

math-worksheet.org



2z 43 on’ 24) 5m* —A/3m’
A2n? = 57/ 2n m? = 5\/5m?

A dagsgs . mabh-verksheeb.org
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Answers to Assignment (ID: 7)

y 643 3 +2N2 + x/6 ) _10b — 15b?/5b + 10V/5b + 75b?
X 4 — 45b°
16% — 4 x — 20x°A'5 + 5%°34/5x x -2 +xA3 = x/6
3)
16 — x* 2x3 — 4x
9n2\/_+ 12m/15n + 2n*\/6n + 8m/10n 10x2\/_+ s\ 2xy — 2y 10y — 2x2yW/ xy
3n? — 80 20x*y — 2xy
7 —5m2—\/5+ 10m*\/3 + 2m2\/6 ) wsuv — 5uv5 — 2w/ 2u + 10uviA/2v
25m’ - 2m 1 -25v3u
0 —2—2n/b - 4/sb — 45 ) 20n + 420 + 100°3 + 2n2A/6n
5b — 5b? 25n% = 2n
an’Aln —20n*v/5 —m/2n + 5nA/10 12— ax\/3 = 32 + 6
11) 12) ;
1 -125n 9x — 3X
— 2x—5\/§—20x\/ﬁ—4xx/g 1y 2044 2+25r—r\/5
23r
5- \/_+2k2\/_ 2k2 Lo M+ 10m2/5m — m>V/2 + 2m*/10m
4k? ) 2 — 40m?
—6+8p2 2+ 6p™3 - 8p"6 18 25a% — 5\2a - 5a°\V5 +aV 10a
1) 9-32p* ) 25a° —2a’
—s\n—asn—3/5 - 12 oy 3v+v2 6V — 8v2+4v3\/5
19) o 20)
21) —4 — 13x\ 5% — 15%° 2\/_+2p2\/_ 26 - p*N10p
16 — 53 3p-5p*
2\/_+ 10m/2 = 3m/n - 15n2\/_ —20m\/_ 25m5m +43/3m + 57/ 15m
n-—25n 109m

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

3 +37/3n?

1
) 2+2’}2n

3x3 —~/5%?

3) 3
5+3’)x

3+ 47/ 2k

5
) 2 +2K°
3p--15p?

7
) §}3p4—2
0) 5+37/5m*

am +~/2m?

2 +/5%2
11) -
S5x—"/x

5-[ok? — 5[k

13) —
—4k? -k

15) Ax + 5%
5[3x3 —2

2n + 47/3n?

17
) 5-/5n% — 5-/5n*

2 —~/3m?

19
) 3~/3m* — 5-/2m?

—4b* —~/2b*

21
) Q3b +2

2T wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date

Period

4 + 47/ 3n?

2
) 2 —3n°

3 —37/2b°

4
) 2+ 5/3b*

3 - 573%3

6
) —-2X +’} x*

2b + ~/ 5b?

8)
2b + 4*?3b4

2 — 47/2n?

A/5n% —~/2n?

10)

5% + /5%

12
) 27/3x4 —~2x>

—2y% — 47 2x%y?

14)
2+-3 x'y?

-2+ 5/5r*

16) 5r2 — 5’} r

4 — 57/5n?
n

18
) o + 2

-1 +57/5x%>

20
) 5+f)5x4

57/2x* -3

22) 23/
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2) A/3n? - 5n 24) 2p+N2p
3 - s\2n? \3p? - 4p

A dagsgs . mabh-verksheeb.org
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Answers to Assignment (I1D: 8)

3-372n +3m3n - 3n/6 8+4n\/_+8n\/§+12nzx/ﬁ

1) 2)
—4n
T w5 S 6 — 15b™/3 — 6b\/_+ 15b3\/_ 5 6+ ska/2k — 8K?
5+ 3X 4 —75p* 4-2k*
3 - 53/3x 3p? 3+6p p3\/_ 2005
) X + X2 7
)2 a3 ++/5 — 2015 9 20- 5\/_+ 12m2V/5 - 3m/10
2 —24b? 14m
10) 2 5+2\/_ 4n\/ﬁ—8n " i;xx;
) 215 e\ 10c + 2x2\/_+ w10 —20k\/_+ 5\/_k+ 20k — 58K
12x% - 16k* —
14) —4y* +2y 33 - 8yx\/5+4y2x3\/_ 15) 5%2A/3 + 24X + 5x \/E+2x\/_
4 - 3x*y? 75%° —
“or = 2Nt + 5645 + 5r/5r 2\/_+2n\/_+4\/_+4n\/_
16) AL
5r° —5r 25 —25n?
15 - 16m/3 — 5m/5n + 20015 LR 10V2 - 9m? - sme
n? —48n° 27m® — 50m
20 % A5 +25x(5 — 25%° y1y ~40V3b ¢ 8b° - b>\/6b + 202
25— 5x* 3b—4
10x22 + 15532x = 6 — 9xvx 33 + 506 — 150 — 25n%4/2
22) 23) -
4-0x3 9—50n
—2p\5— 8p—~6p—42p
13p

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

\/_ +~op*
—2b - fr?b2

2’/_ 23
3r’ ’)2r

3 +2’/_
5) ﬁ—

5X +27/3x

7)
4x* + ’) 2x2

-2 +27/3a

9
) 344383

4 +7/3r
11) 7
3-5r—5

13 Nsn—~n
-2 - 5’)2n

4 +37/3x*

15
) -4 - 2"} 2x°

3x —/2x*

17)
—5x +’) 5x2

19 3= 5o
5+ 57/3b*

am*n +~/2m*n

_5n + 47 3m2n’

2T wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

2) 3+’/5_n

2n? —27/n

2 -5k

4)
55Kk — 2K

4 —27/3x

6)
2%3 + 2’) x>

8) S+ 2’/%
5+43p

10) 2+4772
QSm+ )m

2 —_ap® - 2-/s5b
-3+ ’) 5b2

—3~/5x*

14
) -2 - 4"} 3x2

16) 5’/_+’a
3- 5’)3a

_ ~ g4
18) 3+37/5p

sNpt =p

2 +37/3n*

20)
-1+ 5’)3n2

2) 3/3m* — 5
’} 2m?
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2) 3 2x3 - 5W5x] 20) 4-~5a*
4— 4552 n3a® +42a
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Answers to Assignment (I1D: 9)

—\/ bZ\/_ 3n% +3Vn +n*A/5n + n\/g
2) -
2n" —2n
6r2\/ +2\/ _3ear —arr 10\/_ +4 - 25K — 245k
9r3 —2r 121k?
6+7n n+2n 2 —A/3x 20x* — 5%V 2 + 8x°N3x — 2N/ 6X
5) 6) 7) 7
x>+ x 16xX" —2x
8) —25+5\/ p+10W5p —2pV15 ) 6 + 8a\/ 3a — 6\ 3a — 24a’
25-3p 9 —48a’
10) 2A/5m —2m + 4m*A\/ 10 — 4m?A/2m 12\/ r+20+3rV15 +5V3r
5m—m? 45r — 25
2 12b% + 4b*\/5 + 67/sb + 1007 b 13 2 sn + 502710 + 240 — sn?A/2.
9 — 5h? 4 —50n°
“2 4+ 4x73 435 — 6x3A/15 —8 +4xN 2X — 6XN 3 + 3x°\ 6X
14) > 15) .
2 —24x 8 —4x
15ava + 25243 + 3a + 5a*\/3a —15—3\/_+5x\/_+xx/
16) 3 17)
9 —"75a
18 —15p% = 3W p + 15p™/5 + 3p™/5p )3 3043 - 5\/_+5b2\/
25p* - 5—15b*
2) —2—10m/3 = 3n*/3 — 45n° 2 —20m*n — 16m*m/3n - sm2\/2n — 4am*m/6
1 — 75n? 25n — 48n°m?
2) 15m?A/3 +3m3\/6m — 25 — 5my2m 2) 3x72x + 332V 10X — 53x35% — 252 x
25 -2m’ 4 —20x%?
8a\/_ m2a - 2a415 +aA10
12a% - 2a

2T wsgsgs ath-vsorlsheel ory
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Assignment
Simplify.

—4m? — 47/2m*

D —4m — ’/E

2 +-/2r3

3
) 2+ /312

5) 5+’/§
5a+"7 )a

7 4+ ’/37
-5 +4’?3x3

3n—4’ 2n?

9) ’) 2n

—47/b?
47/3b% —

3*/_ ’/_
\/ 2m® —

2a% +-/3a’

15
) 5a— ’) 3a’

4x% — 4/ 2x*

17) ﬁ__’ -

3-572x3

T

27/3n? - 27/5n?

2 \/_n+’/5n

2T wsgsgs ath-vsorlsheel ory

Name

1D: 10

Date

Period

5—47/5x*

2
) 5+’)5x

4’ 3p* —37/2p*
4’/5p —~/5p>

6) 4v —’/;
5 —’}2v3

3 +47/5n°

8
) -2n® + 5'?2n
NG

2/5r% + 2212

10)

3+ﬂ2p
\/3p —’/Sp

12)

14) 4X +’/§
2+’)3x

4n? —~/5n?

16
) 2n — ’}2n4

) 4p+-/5p°

18
2+’}3p

20) —— i
-1+~ )Sr

2) Am* =5

3m? —~/2m*
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23 3+2 242 24) \'5b* —4/2b°
2a+3Va ~1 +/2b*
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Answers to Assignment (ID: 10)

16m? —4mVm + 16m?A/2 — 4m/2m

5_ 5x—4x2 5+ 4xx

1) 2)
16m-— 1
5 A= 3 +2m/2r - rer N 16p2\/_+4p\/75—12p2\/_ 3p\/7
4 - 3r? 80
5+av3a 6 20V + 4v2A2v — 5\ v —v \/E
) Saial ) 25— 2\
) ~20-21x 3% - 1253 . _6n® — 15v/2n — 8n*A/5n — 200/ 10
25 — 48x° 4n° — 50n
0 6n° + 3 2n—8n3 2n — 8n r\/_ N2 +mfsr—Jar ) 12b\/§+9—16b2 3-12b
4n’ — 10r* -4 48b% —
2 3+3p\/_+ p\/_+p\/F 3m2\/_+12m 3 —m3em - 4m2\/_
3p-5p° 2m® - 16
8 — 4x\3x + 2xV5x — XA 15 10a +2a\/3 + 57/3a + 3Wa
14) 15)
4-3x 2
8n +4n/2 = 24/5 —m/10 8x2 + 4x°A/3x — 8x7/2 — 4x24/6x
16) k 17) h
4 -2n 4 —3X
8p—4p\3p +2pV5 — pV15p 19y 12X+3 X —20x2/2x — 52
) 4-3 ) 16x° — x*
20) = arsr + r\/j) 5 6\/_—2n\/F—2n\/_+10n
1-5r° 3 —5n?
3m\/_+m 2m - 15 - s\2 23 62 a +4a\/2 - 6a/2a

—b\/_ b3\/_ +4b\2 + 80

1 —2b*

2T wsgsgs ath-vsorlsheel ory

4a’ - 9a
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